








Plan

Do
Review

In all sections within a Group the programme is presented
through a ‘Programme Cycle’. This programme cycle can
have any timeline but it contains three crucial features —
Plan, Do, Review.

Each programme cycle is built around an adventure or
series of adventures leading to a key highlight. Normally,
a programme cycle will last around 4 weeks (but can be
shorter or longer)

The ‘adventure’ is the main highlight of the Programme
cycle — the weekend camp, for example, and the meetings
or associated activities are the ‘learning spaces’ to enable
the successful completion of the adventure. So, for
example, the Scouts will need to be able to build an oven
on the camp - so that they can bake a cake. The weekly
meeting or a special day activity might be created for the
o learn how to do this so it can be completed with

Within this process all of the Scouts will be involved in

the creation of the adventure, the weekly meetings and
activities. The team system will be used at all times and all
the interactions associated with this process will be focused
on the programme cycle and the planned adventure.

The Plan, Do, Review method is used....so the
adventure is planned, it takes place and finally
the programme cycle is reviewed and learning is
determined.

The process

The first step in the creation of a Programme Cycle
This is where the ideas for adventures are created
and selected. This resource will highlight some
ideas based around the theme but additional ideas
can be added and created as young people wish in
the programme creation stage.

Doing and discovering

This STEM based resource is designed to enable
young people to discover science, technology,
engineering and maths all around them and as part
of their daily lives.

They are not subjects primarily associated with school, and
that as Scouts we can have a lot of fun using, exploring
and discovering knowledge based on fun, play and group
interactions.

Each idea therefore has a ‘science idea’ that Scouts need
to discover as they undertake each activity. In the review
process it is hoped that Scouts express in their own way
the things they have learned and the knowledge and new
understandings they have gained.

Reviewing
The object of the review session is to understand what has
happened, what we learned along the way and to ‘mark up’

and acknowledge how every Scout has progressed.

Reviewing is critical to the learning process. Until a Scout
takes time to internalise and access what they have

learned through an experience it serves no real
value - bar entertainment.

As Scouting is in the business of assisting young
people in their development the review process is
a vital component of the Scout programme. There
are many ways of conducting the review — it can
be done as the activity progresses or at the end of
each day or in a sit down discussion at the end of
the programme cycle.




Break out

The ‘Break Out’ resource presents a series of
practical maths problems and puzzles. Nineteen
problems are presented via ‘Pinterest’ pins and
weblinks. This resource also contains all of the
seventeen problems.

The problems can be presented and explored via
the poster resource directly with a mobile device.
However, for best experience and learning it is
suggested that a series of bases or locations are
established to enable team based problem solving
and a fun activity.

‘Break Out’ is designed around ‘Get out of the
building’ or Escape type games that exist as
computer games and apps. Physical play arenas
are now to be found in some areas of the country.
The idea is that there is a maze of ‘rooms’ and to
move from one room to another the team must
solve the problem presented within a time frame.

Each of the problems are similar in terms of
‘difficulty’ so a team can start in any location and
move around a series of ‘rooms’.

Possible setup — a series of tables in a big hall, a
collection of rooms, or a series of outdoor bases/
locations. Each problem has a time limit (this can
be determined by age range and knowledge base
of participants. When the locations are established
a team will go to one of the locations to start — on
the blow of a whistle or signal the teams start. The
teams move to the next location at the next signal —
and so the teams engage with each problem.

The solution of each problem could provide a key to

get out of the room, perhaps a letter, a piece of a map

that are combined over the game to provide the final
location and escape route.

Each location needs to be manned and games need
to be reset and adjudicated upon before a team
leaves the location.

If possible have physical items present rather than
providing the problem and some paper and pencils.

@
| I
Science S I
Foundation
Ireland For what's next

Teams should be observed for teamwork and
participation rather than a single Scout solving the
problem.

This activity is just the basic idea of an activity —
other elements can be provided and additional
problems/obstacles etc. added to make it a
‘brilliant activity’. The main focus should be on
‘making maths fun’ and commonplace rather than
its attachment to a school environment.




The Boiled Egg
Problem

You need to boil an egg for exactly 9
minutes, or else the visiting King will
complain and you will lose your job as
head chef.

But you only have 2 hourglasses, one
measures 7 minutes and the other
measures 4 minutes.

How can you correctly measure
9 minutes using these devices.

Countdown
Numbers

Select a target number with three digits at
random

Try to get as close to the target
using a choice of six numbers - randomly
selected from the pile

You don’t have to use all the numbers

You can’t use the same number
more than once

Only plus, minus and divide are allowed

There are four big numbers
25, 50, 75 and 100

There are twenty small numbers .
Two of each 1,2,....,9,10

g = o,
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Make 1000

Using only the number 8 exactly eight
times make 1000 using only plus, minus

and divide




Dominoes

Place dominoes on the table in this order.
Now try to rearrange the dominoes so that
the sum of the dots on every
vertical, horizontal and diagonal row
totals twenty - one

Newspaper
Fraction
Dancing

If you can master the easy ones try doing

1/5, 1/7, 1/32
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Create a
parabolic curve

Using the material provided create a
parabolic curve and ropeweave.

Materials:- cardboard, pins thread.
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The Ta n g ram Using all the pieces create the

following shapes

The tangram is a seven piece puzzle. It
can easily be made by cutting up a
square piece of card

2 Litres of
Water
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The Problem
You need to measure two litres of water
but you only have a 4 litre and 5 litre bowl
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The River Cross

The Problem

During a country walk, a man and three
children encounter a stream. As he is the only
one wearing suitable boots he decides to
carry the children over one at a time.

Bearing in mind that Ann argues when left
alone with either Andrew or Mark. How does
he manage to carry them across the stream
without an argument breaking out.

Five engineers are exploring a
possible route for a railway through
the jungle regions of Brazil. They
find themselves on the bank of a
river with five cannibals on the other
side.

They agree to help each other but
both parties are cautious.

The only method of crossing is a
canoe and only one engineer and
one cannibal can paddle.

The boat can hold three men.
The engineers do not trust the
cannibals, and are unwilling to be
outnumbered either in the boat or
on either shore for the time it takes
the boat to cross.

What is more, the cannibals feel
exactly the same way about the
engineers!

Is it possible for both groups to
cross safety
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Packing Boxes
Puzzle

You have 10 smaller boxes that need to be
packed on to larger crates for transport.

Each crate can carry a maximum of 25 kg -
but you only have three crates and the total
weight of all the smaller boxes is 75kg.

The box weights are:- 15kg,13kg,11kg,10kg,
9kg, 8kg, 4kg, 2kg, 2kg, 1kg.




Hanoi Rings

The objective of the puzzle is to move the

entire stack starting on the left hand side

to rod on the right hand side, obeying the
following simple rules:

Only one disk can be moved at a time.

Each move consists of taking the upper
disk from one of the stacks and placing it
on top of another stack i.e. a disk can only
be moved if it is the uppermost disk on a

stack.
No disk may be placed on top of a
smaller disk.

What is the mallest number of moves
possible to move the disks from one
stack to create another stack.

Frog Hop
Puzzzle

Move all three green frogs to the rocks
on the left and move all three brown
frogs to the rocks on the right.

Frogs cannot move backwards and
can only hop over one frog at a time.
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Shutting
Puzzle No. 1

Create a board with plastic counters
or coins as shown

The aim of the game is to shift the top blue
counters with the bottom red counters using
the smallest number of moves. You can slide

a counter one at a time with no jumping
of another counter or sharing/stacking of
counters on a square
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Unconnected :
Using each number, 1 through 10, place S h Uttl n g S h utti n g

them in the circles so that no consecutive

numbers are connected by a line. PUZZIe No. 2 PUZZIQ NO. 3

For example, 4 cannot be connected by a
line (in any Direction) to 3 or 5

Two trains, one consisting of Two siding join the the main

an engine and a car and the track of a railway line. They meet
other an engine together to form a dead end. The
and two cars meet on a dead end siding is big enough to
section of railway track. hold an engine or a car at a time.
There is a short side track Ablue car is positioned on the left

on the line, as shown. The siding, a green car on the right
side line is long enough to and the engine in a midway point

ne engine or L
hold only one e gine o on the mainline between
one car at a time. o
each siding.

The object is to exchange
the position of the two trains

so that they can The object is to exchange the
continue on their journey positions of the cars and return

using the side track to the engine to its initial position.
achieve this.

A car can be pushed by the
front of another engine but
cannot be connected
(pulled) to the front of an
engine.

This has to be achieved in the
smallest number of couplings
and uncoupling.










